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Question 1

Question Type: MultipleChoice

A virtual server is listening at 10.10.1.100:80 and has the following iRule associated with it:
when HTTP_REQUEST { if { [HTTP::header UserAgent] contains "MSIE" }

{ pool MSIE_pool }

else { pool Mozilla_pool }

If a user connects to http://10.10.1.100/foo.html and their browser does not specify a UserAgent, which pool will receive the request?

Options:

A- MSIE_pool
B- Mozilla_pool
C- None. The request will be dropped.

D- Unknown. The pool cannot be determined from the information provided.

Answer:

B


http://10.10.1.100/foo.html

Question 2

Question Type: MultipleChoice

A site has assigned the ICMP monitor to all nodes and a custom monitor, based on the HTTP template, to a pool of web servers. The
HTTP based monitor is working in all cases. The ICMP monitor is failing for 2 of the pool member 5 nodes.

All other settings are default. What is the status of the monitor is working in all cases?

Options:

A- All pool members are up since the HTTPbased monitor is successful.
B- All pool members are down since the ICMPbased monitor is failing in some cases.
C- The pool members whose nodes are failing the ICMPbased monitor will be marked disabled.

D- The pool members whose nodes are failing the ICMPbased monitor will be marked unavailable.

Answer:

D



Question 3

Question Type: MultipleChoice

Monitors can be assigned to which three resources? (Choose three.)

Options:

A- NATs

B- pools

C- iRules

D- nodes

E- SNATs

F- pool members

G- virtual servers

Answer:

B,D, F



Question 4

Question Type: MultipleChoice

A standard virtual server has been associated with a pool with multiple members. Assuming all other settings are left at their defaults,
which statement is always true concerning traffic processed by the virtual server?

Options:

A- The client IP address is unchanged between the client side connection and the serverside connection.
B- The server IP address is unchanged between the client side connection and the serverside connection.
C- The TCP ports used in the client side connection are the same as the TCP ports serverside connection.

D- The IP addresses used in the clientside connection are the same as the IP addresses used in the serverside connection.

Answer:

Question 5

Question Type: MultipleChoice




When initially configuring the BIG-IP system using the config utility, which two parameters can be set? (Choose two.)

Options:

A- the netmask of the SCCP

B- the IP address of the SCCP

C- the port lockdown settings for the SCCP

D- the netmask of the host via the management port
E- the IP address of the host via the management port

F- the port lockdown settings for the host via the management port

Answer:

D, E

Question 6

Question Type: MultipleChoice

Which must be sent to the license server to generate a new license?



Options:

A- the system's dossier
B- the system's host name
C- the system's base license

D- the system's purchase order number

Answer:

A

Question 7

Question Type: MultipleChoice

How is MAC masquerading configured?

Options:




A- Specify the desired MAC address for each VLAN for which you want this feature enabled.
B- Specify the desired MAC address for each selflP address for which you want this feature enabled.
C- Specify the desired MAC address for each VLAN on the active system and synchronize the systems.

D- Specify the desired MAC address for each floating selflP address for which you want this feature enabled.

Answer:

A
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